	1. Selye’s General adaptation syndrome (GAS) comprises
	A alarm reaction; resistance; collapse

	
	B. fight-or flight; resistance; exhaustion

	
	C.  alarm reaction; fight-or-flight; allostasis

	
	D. alarm reaction; resistance; exhaustion

	2. The fight-or-flight response (FOFR) involves changes in the
	A.  parasympathetic branch of the ANS

	
	B.  sympathetic branch of the CNS

	
	C.  sympathetic branch of the ANS

	
	D. pre-frontal cortex (PFC)

	3. The GAS reflects the --------- model of health and illness.
	A. biomedical

	
	B. biopsychosocial

	
	C. crisis

	
	D. psychophysiological

	4. The explanation of how the immune system can be shut down when faced with chronic stress is consistent with the concept of
	A. allostasis

	
	B. homeostasis

	
	C. homeostatic load

	
	D. allostatic load

	5. Type A Behaviour Pattern (TAPB) has been studied in relation to 
	A. cancer

	
	B. the stress-illness relationship in general

	
	C. drug addiction

	
	D. coronary heart disease (CHD)

	6. ----------------- represents a protective personality factor.
	A. Type A Behaviour Pattern (TABP)

	
	B. Type C

	
	C.  hardiness

	
	D. extroversion

	7. Secondary appraisal is the process by which we
	A. judge a situation to be a stressor

	
	B. assess our coping resources

	
	C. put coping efforts into effect

	
	D. keep our stress within manageable limits

	8. ------------- represent(s) the formal provision of methods for dealing with stress by trained professionals.
	A. stress management

	
	B. coping mechanisms

	
	C. structured coping

	
	D. cognitive restructuring

	9. ------------- is a form of stress management used mainly with children.
	A. cognitive restructuring

	
	B.  distraction

	
	C.  biofeedback

	
	D. provision of information

	10. Moos and Schaefer’s ------------- helps explain how patients cope with a diagnosis of chronic illness.
	A. crisis theory

	
	B. biomedical model

	
	C. biopsychosocial model

	
	D. acute stress theory





